Lo

A

Select the odd sentence pattern from the following :

(A) He ate the cake TA This shoe 1s large
(C) She sang a song (D) I wrote a letter

Find out the antonyms for the underlined word.

Some people mess up their houses with ever lasting rubbish.

1. Lasting 2. Temporary
3.  Changing 4.  Endless

5. Eternal

(A) 3,4and5b (B) 1,2and4

(C) 2 3and5 ' \/(1); 1,2and 3

Change the following into positive degree.
This temple is the biggest in India.

(A) This temple 1s as big as that temple

)\/QBT No other temple in India is as big as this temple

(C) This temple 1s very big

(D) Very few temples are as big as this temple

Identify the compound sentence.
(A) The box is too heavy to carry
(B) Owing to illness Rajan did not appear for the examination

(C) Even though he is poor he donates generously

\yf We must eat or we cannot live

HLE12
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Select the correct suffix to frame a new word. Using the given word ‘Purpose’.

[@a]

(A) able Co ity
\/(QT less (D) ness

6. Choose the correct antonym for the underlined word from the options given :

His ways of presentation is Unique.

4{)\ common (B) comparable
(C) indifferent (D) wrong
7. Which one of the following is a correct sentence?

(A) Ihad been living here since 1995 \//Eﬁ I have been living here since 1995

(C) T were living here from 1995 (D) I was living here since 1995

8.  Pick out the statement that doesn’t match with the given question tag.
(A) Wait a minute, can you?
(B) Push the door to the corner, can you?
(C)  Get the guide who can help you, can you?

y Have some more rice, can you?

9. Choose the correct synonym of the underhined word.

The rules are made to be enforced.

(A) replied \/(BY applied

(C) supplied (D) engraved

HLE12 4



10.

11.

Match the following sentences in Column A with the units in Column B and select the correct

answer from the codes given below :

Column A Column B
(a) Idream evervdav 1. noun
(b) Life1s a gift 2. verb
(¢) I write a letter 3. adjective
(d) Itis a business letter 4, adverb
@ @ (@© (@
(A) 4 3 2 1
1 23
(C)y 4 2 3 1
Dy 1 4 2 3
Comprehension :
“All the world’s a stage
And all the men and women merely players
They have their exits and their entrances”
@ : The word ‘Exit and Entrance’ refer to
(A) Love and Hatred \/CB’)/ Birth and death
(C) Life and love (D) Dream and reality

Give the suitable order of articles in the blanks of the given passage. Write the correct code

given below :

old man said to his daughter, “If servant finds any money
on floor when she cleans room, it is mine.”
(A) The, a, the, a (B) An, the, a, a
(CyL~ An, the, the, the (D) The, a, a, the
5 HLE12
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13. Match the following synonym from Column A with Column B and select the correct answer

from the given codes :

Column A Column B
(a) Lazy 1. Deep admiration
(b) Shouted 2. Unwilling to work
(¢) Learn 3. Speak loudly
(d) Respect 4. Acquire knowledge

(@ (b (© (@)
4 3 1 4 2
(B)

v

D)y 4 1 3 2

[RV]
IS
—
V%]

Do
LW
A~
—

14. Identify the sentence.

A man’s modesty is 1n inverse proportion to his ignorance.

\/(7{) simple (B) compound

(C) complex (D) none

15. Choose the correct antonym for the underlined word from the options given :

Einstein published his theory of General Relativity that was confirmed experimentally in

1921.
(A) promised ‘/(ﬁ) disproved
(C) refused (D) accepted
16. Rahul a lab assistant, a teacher, a book seller and now he a
journalist.
(A) 1is, was (B) 1s,18
(C) was, was (™" has been, is

HLE12 6 A



17. 1 the instructions but I them.

(A) will read, did not understand (B) will not read, will not understand

\),@5\ have read, do not understand (D) read, has not understood

18. Match the correct noun form for the verb ‘disturb’.

(A) disturbing \/B’)\ disturbance

(C) disturbed (D) disturbingly

19. Select the correct noun form word from the following verb ‘frighten’.

(A) fighting t)m] fright

(C) fights (D) frightening

20. Change the following verb into noun form Die.

(A) Deadly (B) Dead

(C) Dying . &)y Death

21. TFillin the blank with suitable article.

poor always work hard.

%ﬂ) The B) A

(C) An (D) No article

HLE12
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22.  TFind out the appropriate comparative degree for the following sentence.

This is the best response.

(A) This and that are better responses (B) This response is better than that

(C) This s a good response \/(’IjS This is a better response than any other
23. He—————ill since Monday and so he the meeting.
\-}A)/\ has been, could not attend - (B) 1s, could not attend
(C) was, cannot attend (D) had been, cannot attend

24.  Comprehension :

Language is the light of mind. So, 1s the English language 1s today’s context. But ever since,
we have become free, some people have protested against the retention of this language, which

has pros, and cons to it.
Q : 'Pros and Cons’ means
(A) Dreams and reality (B) lLike and dislike

(C) Differences and similarities \/((Bf Advantages and disadvantages

25. Identify the sentence which does not contain an adjective.

(A) She is a clever girl (B) Itis a pleasant evening
(C) Heis an honest man \g)m play chess regularly

26. Find the sentence in which the underlined word 1s used as a verb.

(A) Thave an English guide (B) Where 1s the tour guide
y Parents guide their children (D) We are 1n a guides camp

HLE12 8 A



27. Match the following words given in Column A with their antonyms in Column B and select the

correct answer from the codes given below :

(a)
(b)
©
(d)

(A)
(B)

Ve

(D)

Column A
Conflict
Petrified
Fiery

Full

(@ (b (©
1 2 3
4 3 1
3 4 2
S | 4

(d)

Column B
1. Empty
2. Peaceful
3. Agree
4. Reassure

28. Identify the compound sentence.

(A)
(B)
(©)

v

Despite her poverty, Anuja stood first in the examination

Although Anuja is poor she stood first in the examination

When Anuja 18 poor. She stood first in the examination

Anuja was poor yet she stood first in the examination

29. Identify the incorrect prepositional phrase from the options given below :

There is a car-park.

(A)
©

near the railway station

for the show-room

(B) 1in front of the hotel

: \}D)f\ against this building

30. Fill in the blank with suitable article.

Man, thou art

(A)
(©

an

the

wonderful animal.

B

(D) no article

9 J | HLE12
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31. Change the adjective ‘quiet’ into adverb using the given words.
\/@6\ quietly (B) quieten

(C) quetness (D) quietism

32.  Which one of the following has a correct infinitive?

L(ﬁz)’\ I had rather play than work (B) I rather play than work

(C) 1 wish to play thah work (D) I am playing than working

33. Match the folowing phrases given in Column A with their meaning in Column B.

Column A . Column B
(a) Plenty of 1. Regret
(b) Worry about 2. Alotof
(¢) Inahalf 3. Rest
(d) Take a vacation 4. In anger

@ ® © @
AN 2 1 4 3
® 3 1 2 4
© 4 2 3 1

M) 1 4 2 3

34. She as she into a taxi.
(A) fell, is getting (B) fell, has getting
\/Q@) fell, was getting (D) falls, will be getting

HLE12 10



36.

37.

38.

Effective Time Management means accomplishing more in less time. Beware of the
importance of Time.
Q : Time Management means
(A) Time table (B) Wasting time
\)Q) Doing more in less time (D) Whiling away the time

Fill up the blank with suitable prepositions given below as option.
Priya worked midnight.
(A) until /(B) till
(C) on - (D) along
Select the incorrect sentence from the following :
(A) Look! the children are playing (B) He is studying medicine

!yﬂ The child always crying (DY It is getting late
Match the underlined words in Column A with the parts of speech in Column B and select the

correct answers from the codes given :

Column A Column B
(a) Ilike apples. 1.  Adjective
(b) Ilike white colour. 2. Adverb
(¢) 1 watch movies often. 3. Verb
(d) Igo topark daily. 4. Noun

(@ ®) (© @
A 4 3 2 1
@ 2 3 1 4

e 3

(D) 3 2 1 4

—
Do
>
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39. il in the blank with the correct ‘Homophone'.

I don't want to marks.
(A) Loose (B) Loss
(,07 Lose (D) Louse
40. 1 my lunch. I uneasy now. [ to digest it.
(A) had had, feel, had to walk (B) will have, felt, had to walk
(C) would have, feel, had to walk \( . have had, feel, have to walk

41. Comprehension :
“Life is Queer with its twists and turns As everyone of us sometime earns”.
Q@ : The word ‘Queer’ means
(A) Famihar (B) Common
y\ Strange (D) Queen

42. Choose the appropriate active voice for the following :
At what time was the mail delivered?
VQA§ At what time did they deliver the mail?
(BY At what time will they deliver the mail?
(C) At what time would they deliver the mail?
(D) At what time have they delivered the mail?

43. Select the correct sequence of prepositions.

I will call your office some time the evening.
\ - atin (B) on,in
(C) no preposition, in (D) to, In

44. Find out the error.

The captain with his team members were in the field.

(A) the captain «B) with his team members
(> were (D) in the field
HLE12 12
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45.  Fill in the blank with correct ‘Homophone’.

We were surprised to know his
(A) Decent
(B) Descent

‘ }Qﬁ Dissent

(D) Descented

46. Select the appropriate active voice for the underlined words

He must be written to.

(A) must be writing
(B) must written

(C) must have been writing

\/6/} must write

47.  Fill in the blanks with suitable participle.

Many we were freed from anxiety.-

(A) were arriving

(B) had arrived

\/GC} having arrived

(D) had been arriving

13
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48. Select the correct option to complete the given sentence.

The officer looked

(A) to the matter B) at the matter
\(C)/’mto the matter (D) in the matter

49.  The light — off while |
(A) goes, wrote (B) went, am writing
(C) went, will write . /(I)/)\ went, was writing

50. Choose the correct antonym for the underlined word from the options given :
They tried to harness the ultimate secret.

(A)  Gather L/(.Bﬂ Release

(C) Win (D) Discover

51. Find out the antonyms for the underlined word.
His look is Whimsical.
1. Modern 2. Unrealistic
3. Imaginary 4. Rational
5.  Fantastic
(A) 1,2 4and b \/(B) 1,2 3and 5

(C) 2,3,4and5 (M) 1,2 3and4

52. Identify the word which is not a verb.

(A) prepares \}B{‘ angry

(C) rises (D) plays

HLE12 14



54.

59.

Match the following phrases given in Column A with their meaning in Column B.

Column A

(a) Depend on 1

(b) Attend to

(¢) Fussover 3.

(d) Nestled up 4,

@@ ® (© @

chi‘3142

B) 4 3

o
p—

© 2 1 4 3

D) 3 2 1 4

Which of the following sentence is correct?

.\/(AB\ Few people knew the way didn’t they?

L /837 Few people knew the way did they?
(C) Few people knew the way don’t they?

(D) Few people knew the way do they?

Identify the simple sentence.

o

Column B

To pay a lot of attention to something or

somebody

To sit or lie down 1n a warm and protected

place
Rely on

Make much of things of no importance

(A) If you permit me [ will go away (B) You permit me and I will go away

(C) Iwill goaway if given permission \9/‘ With your permission I will go away

15
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56. Match the following words given in Column A with their Antonyms in Column B and select

the correct answer from the codes given below :

Column A Column B
(a) Ornamented ‘ 1. Darken
(b) Isolation 2. Limited
(¢) Infinite 3.  Unification
(d) Dazzle 4.  Plain

(a ® @© (@
) 4 3 2 1
3 1 2 3 4
© 3 4 2 1
D)

o
—
i
w

57. Pick out the sentence with SVIODOA pattern
(A) He gave her a lot
(B) Lastnight I had a bad dream

(C) Lucy presented the youngest one (puppy) to her friend

\}D‘f Henry gave her a pen yesterday

58. Comprehension :

India possesses a variety of forests and natural vegetation. We have tropical Evergreen forest

in Western ghats and semi Evergreen forest in Orissa.

Q : Which of the following statement is not true?

iA)  Theie are no forests in India

(B) Orissa is rich in semi Evergreen forests

(C) Western ghats 1s famous for tropical evergreen forests

(D) India is rich in natural vegetation

HLE12 16 A



59.

60.

61.

62.

63.

Pick out the sentence which does not have a verb.
(A) He drives carefully \/BS My new, pink purse
(C) He opens the door (D) Don’t make noise
Fill in the blank with suitable prepositional phrase given below :
dogs when you enter a stranger’s place.
(A) Aware of ‘/(BS Beware of
(C) Careful of (D) Assure of
Select the plural form of “Knife”.
(A) Knifes \/é) Knives
(C) Knaifs (D) Knies
The origins of cricket are obscure and there are several theories on how it started. The
shepherds used to play it, with one standing in front of the wicket gate to the sheep fold and
another bowling a stone or something at him and he would have to hit it with his crook.
Here crook means
(A) a staff (B) a half staff
\}Q)/ hooked staff (D) 1iron pole
Choose the correct antonym for the underlined word from the options given :
He possessed great innate wisdom.
(A} in born (B) unnatural
‘&Y acquired (D) artificial
177 HLE12
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64. Choose the correct question tag :

There are some late bloomers in your group.
/A) aren’t they? 'y aren't there?

(C) 1sn’tit? (D) are they?

65. Fill in the blanks with the correct verb choosing from the given words for the noun

‘examination’.

They the knowledge of the candidates.
\/(96\ examine (B) examinable

(C) exam (D) examiner

66. Match the following words given in Column A with their meanings in Column B.

Column A Column B
(a) Inflation 1.  Unforgettable
(b) Enhanced 2. Increased
(¢) Advent 3. Increase in prices
(d) Indelible 4.  Arrival

(@ o (@© @

B 1 3 4 2
© 4 1 3 2

D) 4 3 2 1
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67.

68.

69.

71.

Give the suitable order of article in the blanks of the given passage and choose the correct code
given below :
Rama entered shop. owner received him. He looked at
things in the shop. Finally he purchased umbrella.
(A) the, a, a, an \/(,B’}/ a, the, the, an
(C) a, an, the, an (D) the, a, an, the
Fill up the blank with suitable preposition given below as options.
Nobody knows the answer Murali.
(A) for \/GBS' except
(C) against . (D) than
Identify the degree and choose the correct answer.
Tokyo is larger than any other cities in the world.
(A) superlative degree L/(,B’)‘ comparative degree
(C) positive degree (D) none of these
Identify the degree and choose the correct answer :
Malacca is the oldest town in Malaysia.
(A) positive degree (B) comparative degreé
\}Qﬁ'\ superlative degree (D) none of these
Give the suitable order of articles in the blanks of the given passage and choose the correct
code given below :

Brihadeeswarar temple or big temple as it is commonly
called by natives of Thanjavur is architectural marvel of
immense glory.

(A) The, a, a, the (B) The, an, an the
(C) The, the, a, the \/(D’)/ The, the, the, an
19 HLE12
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72.  Fill in the blanks with suitable options :

down in the chair.

He the room and
(A) crossed, sits (B)
(C) cross, sit

73. Match the following :

(a) Stimulate 1.
(b)  Blurt 2.
() Impute 3.
(d) Protract 4.
5.

@ o © @@

A 5 1 2 3
\}B‘)\ 5 4 1 2
© 2 1 4 3
™ 3 4 5 1

74. Match the statements given in Column A with their question tags in Column B and select the

correct answer from the codes given below :

(a) He is good 1.
(b) They are friends 2.
(¢) He is not good 3.
(d) Iam notill 4.
@ (b)) © (@

A 1 2 4 3

\/(B) 4 1 2 3
(G 3 2 1 4
D) 4 3 2 1

HLE12 20
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Disbelieve
Curtay
Courageous
Conceal

Pacify

aren't they?
1s he?
am 1?7
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75. Fill in the blank with a suitable article.

In olden days,

'\/@3\)

(©)

76.  Find out the active voice from the options given :

A)

(©)

no article

an

It has been tested

It is said that she 1s arrogant

(B)

D)

(B)

a

the

It was yet to be tested

\/Qﬂ It is an Interesting book

father is considered as the breadwinner of the family.

77. Match the following words given in Column A with their antonyms in Column B, and select

the correct answer from the codes given below :

(a)
(b)
(©)

(d)

(A)
B
(©)

(D)

Column A
Exuberance
Malignant
Mute

Folly

(@ () (o
3 4 2
3 1 4
4 | 1 2
2 3 4

(d)

21

Column B

Benign

Wisdom

Apathy

Noisy
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78. Fill in the blanks with correct cogent order of prepositions given below as options.

pursuance your Jetter we are writing today
the Chairman and posting it to him along your letter.
(A) in, to, with, of VéB,)\ in, of, to, with
(G- of, in, to, with (D) with, of, to, 1n

79. Identify the sentence which does not contain a noun.
(A) Parents guide their children (B) Always give willingly
S "\ Boldly, smartly and slowly (D) Students like cricket
80. Comprehension :

He, who teaches us anything which we know, not before, is undoubtedly to be loved as a

benefactor and he that supplies life with amusement will be caressed as a pleasing person.
Q : A ‘Benefactor’ is one
(A) Who blames others (B) Who aims at his personal gains

(C)  Who takes money V(D’)/| Who teaches uhknown facts

81. Which of the following sentence does not contain an adverb?

(A) He came late \ AB) Chennat is a big city

(C) 1 shall meet you tomorrow (D) I usually drink milk at night
82. 1 I his address.

(A) wished, know V(B) wish, knew

(C) wish, known (D) am wishing, am knowing
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83.

84.

85.

86.

Choose the correct antonym for the underlined word from the options given :
All her efforts turned futile.

(A) useless \/(B/ﬁ useful
(C) harmful (D) peaceful

Match the correct suffix, for the given root word ‘cardio’.

(A) -ism (B) —ish

(C) —-ment ' \/(,B')/l —gram

Find out the antonyms for the underlined word.

Raju had apparently changed his mind.

1.  Obscure 2. Lucd

3. Confused 4. Perplexed
5. Irrational

(A) 2,3, 4and1 (B) 3,4and5

(C) 1,2,3and5 \)Dj‘ 1,3,4and 5

Select the 1ncorrect sentence from the following sentences.

(A) You met the actor who is the hero of this movie

\/GB) The bridge was damaged whom they were willing to set right

(C) T found my key which was missing

(D) 1bought the book which I saw in shop

87. Find out the parts of speech that are used in the underlined words.
1.  You dictate the answer
2. Catch me if you can.
3. He is an honest man.
4.  He revealed the truth honestly.
(A) verb, noun and adjective (B) adjective, adverb and noun
\/('C) adverb, verb and adjective (D) noun, verb and adverb
A 23
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88. A knocking was heard suddenly in the silence of the night. Someone was knocking at the
castle gate. On hearing the sudden sound, Macbeth trembled like a leaf. He said, “How 1 wish

the knocking were able to awaken the dead king!”

Identify the tone of the speaker
-,/O\i) remorse (B) suspicion

(C) pessimism (D) none of these

89. Select the correct sentence.
(A) He put out his coat (B) He put in his coat

(C) He put at his coat L/(;&) He put on his coat

90. Match the following words given in Column A with their Antonyms in Column B, and select

the correct answer from the codes given below :

Column A Column B
(a) Inqusitive 1. Leisurely
(b) Inhale 2. Incurious
(c) Hastly 3. Simple
(d) Complicated 4.  Exhale

@ ® @© @@

@ 1 2 3 4
© 3 4 1 2

D) 4 2 3 1
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91.

92.

93.

94.

Identify the tense form of the underlined word/words :

Neetu has had a bad car crash.
(A) simple present tense (B) simple past tense

’Z/;' present perfect tense (D) present perfect continuous tense

Choose the appropriate passive voice for the following sentence.
Where did the police catch the thief?

(A) Where did the thief catch the police?

(B) Where will the thief catch the police?

(C) Did the police catch the thief?

\)D\) Where was the thief caught by the police?

Fill up the blank with suitable preposition.

Leela went into the auditorium mistake.

(/Gt(b by (B) in

(C) of (D) in case of

Match the statements in Column A with the question tags in Column B and select the correct

answer from the codes given below :

Column A Column B
(a) The apples aren’t good 1. aren’t they?
(b)  All those boys are boistorous 2. don’t you?
(¢) Iam not a fool 3.  are they?
() You like him 4. am [?

@ @® @© (@
A 2 3 4 1

B) 1 2 3 4

\/gef‘3142

(D) 4 3 2 1
25
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95. Fillin the blank with the correct ‘Homophone’.

He many points in favour of his case.
(A) sighted \/éB/)‘ cited
(C) sited (D) sitted

96. Change the noun ‘fall’ into verb choosing from the following words.
(A) Fallen (B) Falling
(C) Feeling T, Fall

97. Select the word with the correct prefix.
(A) antelope (B) antique
ngZ’)” antisocial (D) antonym

98. Comprehension :

To cultivate positive thinking, speak hopefully about ecverything. Positive thinking creates a
positive atmosphere and produces positive results.

Q : If you want to cultivate positive thinking, you.
(A) speak boldly (B) speak loudly
\}Q)f think and speak hopefully (D) speak softly

99. - Fill in the blank choosing from the given word the correct ‘verb’ for the noun ‘Pay’.

The manager the salary in cash.

(A) paying (B) payable

(C) payee _\}D’}\ paid

100. Find out the meaning for the underlined word.

The postmaster looked at the boy suspiciously.

1.  Careful 2. Doubtful

3. Untrustworthy 4. Dastrustful
5. Dubiously

(A) 1,2 3and4 (AB) 2,3, 4and 5
(C) 2,3and4 (D) 1,2, 3and5

HLE12 26 A



101. Match the following :
(a) Dispute between Union and 1. Judicial review

State Government

(b) Declaring a law unconstitutional 2. Original jurisdiction
(¢) Appeal from High Court 3. High Court
(d) Single integrated judiciary 4. Supreme Court

(a) (b) (c) (d)

2 1 4 3
(B) 1 4 2 3
© 3 4 2 1
O 1 2 3 4

Speumeuareupenm sfllwrg QUTHSEIS :

(a) wsHw-wrhe sirsseler Grssmanser 1. 54 wm ey

(b)  @melLb rdlud ersansHnG 2, (PBETEOD BT D SETHLD
(pranTTeng|

© ewrffuapsdadmbg Cod popSLe 3. swrbfoanid
@ poow grudomag Sfwdapd 4. esshfloaphd

() (b) (©) (d)
(A) 2 1 4 3
B 1 4 2 3
(®) 3 4 2 1
@) 1 2 3 4

A . 27 HLE12

[Turn over



102. Consider the following statements :

L Kwashiorkor is a protein deficiency disease

II.  Kwashiorkor is an iron deficiency disease

[11. Kwashiorkor is a nutritional deficiency disease

Now select the correct answer,

(A) TandII are correct (B) Il and III are correct
"_, TandJII are correct (D) All three are correct
Spssan cunddlukisamens seled :

I, s&Geuraflgiant, Lyss @ennaure esmid Crmil

I1. &G@ﬁ@&@r’rsnﬁ, @HDLFSS) GenDeumed eu(HLd Crm

L. sGeunedlarant, ssgemmey Ganeumed a(mb CHmul

gfluran eflen_enwig Coips® :
Ay T wpmid IT & (B) I wogyw 11T &M
© T womyw IIT &M (D) apermid &

103. The younger leaves of a tomato plant in your garden shows interveinal chlorosis. Select what

supplement you will give?
(A)  Sulphur (&, Iron

(C) Copper (D) Molybdenum

o mad GamlL sdlaarar s&sral Gaguilen Gemd @aesealld, prblea_sgalld uFmswud @end

sralLBE DG SisHE Briser eravan ebg) oieflidTaem?
(A)  sHssD (B) &@miby
(©) smhpb (D)  wrelltigend
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104. The soil zone 15 considered to be a great biological factory because;

(A) a great varieties of organic compounds are generated in the soil layers
(B) necessary nutrients are made available to plants from the soil layers
(C) soil layer holds water in storage which 1s used by plants and animals

AT all of the above

¢ Afens AsmAnarapawulien g (p&dlu HNBISTS et HIH&E edlamiigdng). gaalia;

(A) e SH&EHET LegTUUL L > WTEAUTmHET 2 HLISS sueTn&Ns Dienldna)

B)  war HEGSETON BB, STEUTHISGERSHE (Sg,maj TN 8&giE&eT &lenl SHlemmg)

(C)  sreurasErs@b, elemki@aeEns@h Comeuwtar B werr iH&dHd Callsg amessliu®dang
(D) Cuhamdu enargsid

105. Name the neighbour galaxy of our own Milky Way galaxy.
(A) Antlia (B) Aquila
(C) Andromeda (D) Auriga

BLogl Lireeufl edlaimBer ol L SHlem imasembhs edlemben d L gdlem Quwrr.
A) el elwr (B) ss@eor
(@) e ConGuim (D)  yMan

106. Every vear, May 22 is celebrated as an
£A) International Day of Biological Diversity
(B) International Day of Tree Plantation
(C) International Day of Environment Conservation

(D) International Day of Conservation of Natural Resources

geulleumm =yeam®Hib Gw 221b Cudlerw Hanwong Qararr@HEHCDmD.
(A)  ueTeTL(h) STEUF LDEIGHSHELD HITET

(B)  uererm_(®) wrb BEH BrET

(C)  uwemestr () &OME G UTZIGTESEGLD HIeT

(D) venerm_ () GlWhens UNSET LTHIGTSHED HITET
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107. Which of the following is/are wrong?

I. The Indus people had the knowledge of surveying and geometry

II. Indus people had the knowledge of Astronomy

I1I. Botanical aspects were very familiar to the Indus people.

A) 1 B) IandIl

(C) 1, 1I and IIl are wrong , AL;'

LS G816 (Th 6 T 6L D M 6T SEUMTETTENaU 678/ eTaney ?

[ Apguued waser Hev siaranes LHMID euen sewflgd LnHw ifleneuls Quhdlmbaent.
II.  Abgilugd waseEnsE eunalwd SiMe| @ BHSS.

I sreuy @uéd bstisenets Ln Abg wasEssE berE COsAbdmHas.

A 1 B) Iwpmw II

(©) LIl wpmyw b geumy (D) 1III

. 108. Which of the following Vedic Literature contains the fine specimens of lyric poetry notably

addressed to the Goddess of the Dawn (Usha)?
(A) Chandogya Upanishad B Rig Veda Sambhita
(C) Yajur Veda Samhita (D) Atharva Veda Samhita

Epaaem_ ahs Ceus mred eSlipwe Gueas Qguiaiora (2 agr)-aen LD Corsduime @enslium L ms

LML §&686 LML & Qe rar(harerng?
(A)  #pCsns 2 LBlesd (B) A& Ceug sbadlgid

(C)  wiggeir Geus abadigb D) izt Ceug sbahsd
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109. Ketone bodies appear in the urine due to diabetes mellitus during
¢  Ketosis (B) Albuminuria

(C) Creatinuria (D) Mpyoglobinuria
Brlellen erbs Hlaneouder AmFher SLCLrer Qurperser Cararmin?
(A) &ECGLrfav B)  eoysariur

(C)  AAwrlgeyrdur (D) mm@un@@eﬁmﬁl@nrﬂmn_

110. The GPSis a
e, Satellite based system that can be used to locate position anywhere on the earth
(B) Satellite based system that can be used to identify the type of forests
(C) System used for measuring earthquake’s magnitude

(D) System used for assessing population density
GPS erénuigy

(A yeer CGupuyile 2 drar @Lmiseflanr Ssiewel g QeupmssCaTaad epobd iHbs

Q&merared
B) asr@sefan cuanasaner QewHeanssGarenser fpad HMHibg Camerare
C) Ao sfireysaisn ufiwramgans QswnhanssCareraar opad DB Csrerare

D) wssaLisHuder Lyeume® QFwDHeEHECHTETEE PO SBiH S

111. Sarva Shiksha Abhiyan (SSA), one of the major important educational programme 1is

connected with the
Elementary Education (B) Higher Education-

(C) Vocational Education (D) Adult Education

‘gireu Asagm sQwrenr (SSA) eraynd péQwinren swals Qanamswnang Qe e QammyemLwig

(A)  Ogm_ssasided Hlane (B) e.wunblenersd seaved
(C) Qsmfinsded D) wpHCwrT sl
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